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Important Instructions

Candidates should read the undermen-
tloned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission ete.
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(a) Write your Registration Number and other
details only in the space provided in the
Question-Cum-Answer (QCA) Booklet for
candidates.

(b) Do not disclose your identity in any
manner such as, by writing your Name,
Registration number, Mobile number,
Address, Question-Cum-Answer (QCA)
Booklet No. etc. elsewhere in the Booklet
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Do not write in the QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusive expression etc., nor put any
sign/mark having no relevance to the answer.
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Do not write answers in medium other than the

Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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i.e. authorize and unauthorized media together
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Write answer at the specific space (right below
the question) only. Answers written elsewhere
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off.
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Stating the issues associated with agricultural extension in India, discuss the role of Krishi

Vigyan Kendras (KVKs) in strengthening the national agricultural research extension system.
(Answer in 150 words) 3 10
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In India, the food processing sector is emerging as a high-growth and high-profit sector due to its
immense potential for value addition. Discuss. (Answer in 150 words) 10
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Explaining the concept of livestock-based Integrated Farming System (IFS), discuss its beneﬁts
(Answer in 150 words)
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While Persons of Indian Origin (PIO) are spearheading entrepreneurship across the world, India

still has one of the lowest entrepreneurship rates. Discuss. Also, state the policy measures that
have been taken to increase the pace of entrepreneurship in India. (Answer in 150 words) 10
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‘Land banks’ can play a critical role in boosting the economy and promoting ease of doing
business in India. Discuss. (Answer in 150 words) 10
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The proposed amendments to the Forest Conservation Act (FCA) are not only antithetical to the

Forest Rights Act (FRA), but are als likely to delay India achieving its commitménts on climate
cilgnge. Discuss. (Answer in 150 words)
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The problem of flooding in urban areas is not only due to ove wing rivers, but also the
uninformed ways in which our cities are coping with urbanisation. Discuss. In this context,
mention the National Disaster Management Authority guidelines on urban floods. (Answer in 150
words) 10
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ISRO is no longer confined only to the launching of satellites, but it has been constantly enlarging
its role in development activities over the years. Discuss. (Answer in 150 words) 10
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State the reasons behind targeting of Critical Information Infrastructure (CII) by state and non-
state actors. Also, discuss the steps taken by the Indian government to secure its CII. (Answer in
150 words) 10
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Despite the strategic significance of North-East India, the region faceWeats
Discuss. Also, state the measures taken by the government to ensure peace and stability in the
region. (Answer in 150 words) 10
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Indian Railways has suffered from chronic under-investment, which has adversely impacted key
areas of its operations. In this context, discuss the challenges faced by the railways in speedy
creation of infrastructure. Also, mention the steps taken by the government in this regard.
(Answer in 250 words) 15
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A disruptive approach to research & development (R&D), with a focus on last mile obligations of

the agricultural system is necessary to realize India's objective of doubling farmer's income.
Discuss. (Answer in 250 words) 15
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India’s power distribution companies and electrical grids must undergo g_fgg__n_s_to transition from
fossil fuels to more sustainable forms of renewable energy. Discuss. (Answer in 250 words) 15
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The practice of input-intensive agriculture in India needs a massive overhaul due to its

unsustainability and negative consequences. In this context, discuss the significance of Low
External Input Sustainable Agriculture (LEISA). (Answer in 250 words) 15
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a') write on
The recently released IPCC Sixth Assessment Re 6) — 2021 has been deemed as ‘code

red’ for humanity. In this context, discuss the various concerns raised in the report with special
focus on India. Also, enlist the remedial measures given by the report. (Answer in 250 words) 15
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AT FEEA (CDM) it it & ara-ara =&/ = Ftaat £t off f@e=ar fifsm) (39w 250
==l | 3)

Multiple chemical disasters from the Bhopal gas tragedy to gas leak in Visakhapatnam have
brought into focus the risks posed by hazardous chemicals (HAZCHEM) in India. In view of this,

discuss the preparedness as well as gaps in Chemical Disaster Management (CDM) “in India.
(Answer in 250 words) 15
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HETHTL & HHT ATEI(A S0 F Safad aeqai AT =Tt F IarHar 1 9247 7197 F adu0TT
A& HaT 7T F Hay # wgeayt qar #1 Iorav 31 A Fifdrw (39 250 9=k # F)
The growing demand for liberalisation of public health-related goods and services amidst the

pandemic has raised critical issugs with regard to the current intellectual property regime.
Discuss. (Answer in 250 words) 15
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Highlighting the reasons behind suboptimal results in indigenization of defence technologies in

India, suggest measures which can accelerate the pace of indigenization in the defence sector.
(Answer in 250 words) 15
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Discuss the factors behind conceptualization of different Central Armed Police Forces for

guarding the international borders. Also, highlight the contribution of of these forces in ensuring
security of India. {Answer in 250 words) 15
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Discuss the vulnerability of virtual assets in terms of their misuse for money laundering activities.

Also, state corrective measures that can be taken to mitigate the risks posed by the usé of virtual
assets. (Answer in 250 words) 15
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